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Question Number : 1 Question Id : 2549896563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The  manages all the resources available on your computer.
Options :

1. = ALU

2. % RAM

3. ¥ Operating system

4. % ROM

Question Number : 1 Question Id : 2549896563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



W&)Rj\d{ﬁdqﬂoﬂﬂlﬁwﬁlﬁ (resources)WW‘EFf %WWW%I
Options :

1. % ALU

2. % RAM

3. ¢ SR Rew

4. % ROM

Question Number : 2 Question Id : 2549896934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of device is the computer monitor?

Options :

1. * Input device

2. % Output device

3. % Processing device

4. ® Software device

Question Number : 2 Question Id : 2549896934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SR AR fhd THR &1 fSargy g2
Options :

1. % g f&argy

2. ¥ 33cYc fgargya

3. % ORI fearsy

4. % oA feargq

Question Number : 3 Question Id : 2549897059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One is approximately one billion bytes.

Options :



1. # Kilobyte
2. % Bit

3. % Gigabyte
4. % Megabyte

Question Number : 3 Question Id : 2549897059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 o ¥ forge oM Ty U faferad S15ey & SRR gidT1 82
Options :

1. * fodlage

2. % fqc

3. ¢ TiTIETge

4, % HTETSC

Question Number : 4 Question Id : 2549897613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

With reference to computer memory, what is the full form of PROM?

Options :

1. ¥ Programmable Read Only Memory

2. % Periodic Read Only Memory

3. # Programmable Run Only Memory

4. % Parallel Read Only Memory

Question Number : 4 Question Id : 2549897613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SR FART & HeH # PROM &1 YUl &9 &1 82

Options :

1. ¥ Programmable read only memory (m A S fﬂ:nﬂ)



2. % Periodic read only memory (d’lﬁqﬂ%ﬁ S 3nat fﬂ:hﬂ)

3. # Programmable run only memory (chuﬁaa T 37t flthﬂ)
4. % Parallel read only memory (ai?lﬁ eI ﬁﬁlﬁ)

Question Number : 5 Question Id : 2549898476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which function returns the number of periods required by an investment to reach a specified value in MS-Excel 2019?

Options :

1. ¥ DURATION

2. ¥ NDURATION

3. # NPDURATION

4. ¥ PDURATION

Question Number : 5 Question Id : 2549898476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS - Excel 2019 H, I 1 tha MY #1H deb Ug= & fog fobeli Haw1 b1 aifawaes sfaferdl ot e e &l 82
Options :

I. ¥ DURATION

2. % NDURATION

3. % NPDURATION

4. ¥ PDURATION

Question Number : 6 Question Id : 2549898565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which function key 'Opens or closes the Navigator' in Open Office Writer?

Options :

1. # F7

2. ¥ F5

3. %¥ F8



4. * F6

Question Number : 6 Question Id : 2549898565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3T SHTFE AR T DI T TraRM Foft Afaiex &t Wiad! a1 8¢ Bl 872
Options :

1. % F7

2. ¥ F5

3. % Fg

4. % Fg

Question Number : 7 Question Id : 2549899312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A isapen-like device commonly used with tablet PCs and PDAs.
Options :

1. ¥ mouse

2. % joystick

3. % stylus

4. % scanner

Question Number : 7 Question Id : 2549899312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T eode PC 3R PDA & I1Y SUANT &1 S dTelt U7 &1 oRE &1 U fSasa |

Options :

1. % HI3"
2. % SIRED
3. ¥ KR
4. % TR



Question Number : 8 Question Id : 2549899359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following devices can create a hard copy of a computer document or image?

Options :

1. ¥ Scanner

2. % Keyboard

3. % Monitor

4. % Printer

Question Number : 8 Question Id : 2549899359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HECR SIFGHE IT 3HGI BT §TS PIU! fohUe P & forg o o ¥ o fearsw o1 IuahT o Siran 82
Options :

[ % IR
2. % IS
3. % HHeR
4. ¢ iR

Question Number : 9 Question Id : 25498922525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One GigaByte is MegaBytes.

Options :

1. ¥ 1024

2. % 512

3. % 2016

4. % 8

Question Number : 9 Question Id : 25498922525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



e MTeTse OIS

Options :
1. ¥ 1024
2. % 512
3. % 2016
4. %38

Question Number : 10 Question Id : 25498929855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Highly advanced barcode scanners that are very efficient in decoding badly printed, crumpled and torn barcodes are called
Options :

1. % omni-directional barcode scanners

2. % CCD readers

3. % pen-type readers

4. % electro-thermal readers

Question Number : 10 Question Id : 25498929855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

q &IFJTW RGBS TR S TS g QH@_VT (printed), @%—ﬁ% (crumpled) R e (torn) TRDBIS DI ﬂ’r%ﬁsmﬁﬁﬂ&m@ﬁ% Wm%‘7

Options :

1. ¢ 3NF-SREA IRBIS TR
2. % CCD ISR
3. % U9-er3g e

4. % Zoacl-yHd e

Question Number : 11 Question Id : 25498930305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of BD-R?

Options :



1. # Blu-ray Disc Readable
2. # Blu-ray Discover Read
3. % Blu-ray Disc Recordable
4. % Blu-ray Digitable Read

Question Number : 11 Question Id : 25498930305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BD-R &1 JUiRET &1 52

Options :

1. % Blu-ray Disc Readable (®_Q:L-3\r % A

2. % Blu-ray Discover Read (X fe®naR 39)

3. % Blu-ray Disc Recordable (®_(:L—§' s Replaaq)

4. % Blu-ray Digitable Read (X f$foiead ¥e)

Question Number : 12 Question Id : 25498930387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A BD-RE disk is an example of a/an disk.

Options :

1. ¥ optical

2. % golid state

3. # magnetic drive

4. % magnetic tape

Question Number : 12 Question Id : 25498930387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BD-RE f&%@® &% P TP ISR 5|
Options :

1. ¢ DD (Optical)



2. % gifds e (Solid state)

3. % Wg@ (Magnetic drive)
4, % W ey (Magnetic tape)

Question Number : 13 Question Id : 25498930893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following ports is a video input that is primarily used in a PC?

Options :

1. % Video Graphics Array (VGA)

2. % Motherboard

3. % RAM

4. % PS/2

Question Number : 13 Question Id : 25498930893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad # ¥ SH-A1UIE (port), T dIfSa1 37 7 ST IUg 4 = U ¥ Wit (p) # v Sirar 82

Options :

1. ¢ GifSa Wb W (VGA)
2. % Ha§ls

3. % RAM

4. % PS/2

Question Number : 14 Question Id : 25498931007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fourth generation computers are based on which of the following hardware?

Options :

1. % Microprocessor

2. % Transistor

3. # Vaccum tube



4. % Integrated circuit

Question Number : 14 Question Id : 25498931007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

et Sird| (Fourth generation) & PR fafead 7 9 fog greamR o snutid %?
Options :

1. ¢ HISHIURIRR

2. % TIfoReR

3. % JRgH EE

4. % QEBQ'W gRkgy (Integrated circuit)

Question Number : 15 Question Id : 25498931016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of a microcontroller?

Options :

1. ¥ Intel 8008

2. % ARM

3. % PIC

4. % AVR

Question Number : 15 Question Id : 25498931016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

9 & 9 $H TP ASHISh IR $T TSR 51 87
Options :

1. ¥ Intel 8008

2. ¥ ARM

3. # PIC

4. % AVR



Question Number : 16 Question Id : 2549899537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

512 bits is equivalent to bytes.
Options :

1. % 16

2. % 8

3. % 32

4. v 64

Question Number : 16 Question Id : 2549899537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

512 focy S1geY & YAJ (equivalent) B
Options :

1. % 16

2. % 8

3. % 32

4. 64

>

Question Number : 17 Question Id : 2549899590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The speed in laser printers is measured in

Options :

1. ¥ Pages Per Minute
2. % Parts Per Minute
3. % Letters Per Minute
4. % Dots Per Minute

Question Number : 17 Question Id : 2549899590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

ooR e # 7fd, w7t STt 81
Options :

1. ¢ U Ufd fire

2. % YT Yfd e

3. % 31eR ufd fire

4. % gicy gfd fare

Question Number : 18 Question Id : 25498910981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following:
LIST-1 LIST-2
I) Byte A) Magnetic disk
1) CD B) Storage unit
I1T) Hard disk C) Optical disk
Options :

1. % 1-C,II-B, Il -A
2.% [-C, II-A,III-B
3.1-B,I1-C, Il -A
4. % 1-B, II-A,1II-C

Question Number : 18 Question Id : 25498910981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafeRad o1 fiamt.
ft-1 -2
I) dIS< (Byte) A) ?[EIW 555 (Magnetic disk)
1) et (CD) B) HSRUI Qﬁ_c' (Storage unit)
111) BTS f&%h (Hard disk) C) 3P [$XF (Optical disk)




Options :

1.%¥ 1-C,II-B, Il -A
2.% 1-C,II-A, Il -B
3. 1-B,II-C,IlI-A
4. % [-B,I-A,IlI-C

Question Number : 19 Question Id : 25498911157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The impedance of a loudspeaker is measured in

Options :

1. #* bits

2. % bytes

3. % Ohms

4. % decibel

Question Number : 19 Question Id : 25498911157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NISER R AR IREINI] (Impedance) H gt STl 82
Options :

1. % {9 (bits)

2. % dIgc¥ (bytes)

3. ¥ 30IE (Ohms)

4. % SRS (decibel)

Question Number : 20 Question Id : 25498913516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a set of programs designed to perform a well-defined function using a computer system?

Options :

1. * Microprocessor



2. #* Microcontroller
3. # Hardware

4. % Software

Question Number : 20 Question Id : 25498913516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafefad o ¥ H1H-91, T HHex R o7 IUANT B JURHIRG B B & forg fEemg forg 7u tium &1 1o ¥c 82
Options :

1. ¥ OISHITRRR

2. % IhIheler

3. % BIEAWR

4. ¥ AUCAW

Question Number : 21 Question Id : 25498913615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the extension for a Microsoft Access database file in the Windows 10 OS?

Options :

1. % cda

2. % accdb

3. % bat

4. % bin

Question Number : 21 Question Id : 25498913615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 10 OS H ql?gﬂﬁ?lﬁlf Qﬂ@ﬂ 3oy Igcl (Microsoft Access database file) & m Qaﬂ%-‘{l:f IEEINIERREE] ST %‘?

Options :
1. # cda

2. % accdb



3. #* bat
4. % bin

Question Number : 22 Question Id : 25498918574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is software and operating system (OS) update that address security vulnerabilities within a program or product?
Options :

1. % Log

2. # Release

3. % Patch

4. % Vulnerability

Question Number : 22 Question Id : 25498918574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafeiad o @ &9 91 AiteatR SR STRfET Ried (08) 3Muse g S forddt Ui a1 Iare & HidR YREm HHuNRal & Jalferd &l 82

Options :

1. % QT (Log)

2. ® W(Release)

3. U (Patch)

4. % FeRISfAE (Vulnerability)



Question Number : 23 Question Id : 25498918585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is a PING command?

Options :

1. ¢ It is a command-line utility, that acts as a test to see if a networked device is reachable.

2. % It is a command which provides comprehensive view of information regarding the IP address configuration of the device we are currently working on.

3. # Itis a command to display the hostname of the system.

4. # Ttis a command used to start a computer which is in a sleep mode.

Question Number : 23 Question Id : 25498918585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

PING HHIS T 57
Options :

1. ¢ U8 U HHIS-AT3H SUTINIIT &, O T8 &g & foTe uRiefur & U & & acll § f Aead fSargy uga ava g ar gl |

2. % TEUH HHIS § ol 34 ST & MUl TS HIRHTRIM & IR H SHBR] &1 ATIH €4 UGH Bl § o TR §H IqHH H HT1H R I8 o
3. % Wmmmmostname)ﬂ?&fﬂaﬁﬁ$m@m%|

4. % WY AE & fRYd $R & [E (TC) TR & 018 39 HHTS BT TANT b1 ST ¢ |

Question Number : 24 Question Id : 25498922720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an internal component of the hard drive?

Options :

1. # Spindle

2. # Read/write head

3. % Platter

4. ¥ Hopper

Question Number : 24 Question Id : 25498922720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



frafeiead & @ ®1F-91, 818 S13d &1 U MTdR® °ch ol &7

Options :

1. * f&Ed (Spindle)

2. % HSRZCeS (Read/write head)
3. % TIcX (Platter)

4. B'\I{ER(Hopper)

Question Number : 25 Question Id : 25498924039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following information kiosks is designed to provide their services in almost any weather condition - rain, sun or snow?
Options :

1. * Indoor

2. % Both indoor and outdoor

3. % Outdoor

4. % Inbuilt

Question Number : 25 Question Id : 25498924039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1%)_;:lT]’F!'i%‘I'@T‘T%ﬁ@ElaT'f-ﬂTﬂjF'lTﬁﬂ:hﬁg(informationkiosks), melﬁﬁwaﬁ@ﬁ-w, @WWﬁMWWWﬁ%WW
T g?

Options :

1. % g:f@,\ﬁ?(lndoor)

2. % 3SR 3R 3MIeSR gl (Both indoor and outdoor)
3. ¢ 33ICER (Outdoor)
4. % ZAMIeC (Inbuilt)

Question Number : 26 Question Id : 25498924325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The first Linux kernel that supports the SMP hardware is:



Options :

1. ¥ Linux 2.0
2. % Linux 0.1
3. % Linux 1.1

4, % Linux 1.2

Question Number : 26 Question Id : 25498924325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TH.TH. U (SMP) BTSITR B! WUIE H- Tl Ugal ooy Hd gl
Options :

1. % Linux 2.0

2. % Linux 0.1

3. % Linux 1.1

4, % Linux 1.2

Question Number : 27 Question Id : 25498924499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the file extension for Microsoft Windows 10 Publisher file?

Options :

1. * .mpp

2. % pub
3. % pup
4

. % msp

Question Number : 27 Question Id : 25498924499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

PTG fdSIS 10 Uf&TRR (Microsoft Windows 10 Publisher) TS &1 TR & 82
Options :
1. ¥ .mpp



2. % pub
3. % pup
4. % msp

Question Number : 28 Question Id : 25498925359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that correctly arranges the monitors from the lowest to the highest energy consumption.

Options :

1. ¥ LCD, LED, CRT

2. % LED, CRT, LCD

3. % CRT, LCD, LED

4.+ LED, LCD, CRT

Question Number : 28 Question Id : 25498925359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

39 fadhed &1 99 B ot FAgfaRad Ariex) & Fgad ¥ Swad Sl Wud & ald & S9R SIafyd HRdl g |
Options :

1. % LCD, LED, CRT

2. % LED, CRT, LCD

3. % CRT, LCD, LED

4. ¥ LED, LCD, CRT

Question Number : 29 Question Id : 25498940420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is true with reference to Read Only Memory (ROM)?

Options :

1. ¥ When you turn on the power to a computer, the first program that runs is usually a set of instructions kept in the computer's firmware called the boot
RAM.

2. % ROM is a volatile memory.



3. % ROM chips are not only used in the computer but also in other electronic items like washing machines and microwave ovens.

4. % The information stored in ROM is temporary.

Question Number : 29 Question Id : 25498940420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3 el AERt (ROM) & T H Fgfifed # @ S-Sy g0 82

Options :

1. % S 3T fhel HLR DI IR 3HH R &, T T4 UG I B ATl U Uik HeX & HHIIR H 79 FER1 61 T Ie gidT ¢ o §¢ |
(boot RAM) 8T ST 8 |

2. % ROM U& qidieigd HHRI ]
3. ¥ ROM Foe &1 SUANT 1 el S er # difeeh 3 geta e a3l oiY fob arfRiv #ei= oIk Aigepidd sfia= & +ff far Sran 81
4. % ROMﬁ@?ﬁﬁwm(temporary)Eﬁ?ﬁ%I

Question Number : 30 Question Id : 25498940559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is malicious software that enters a user’s computer, gathers data from the device and user, and sends it to third parties without their
consent?

Options :

1. # Adware
2. % Patch

3. ¥ Spyware
4. % Update

Question Number : 30 Question Id : 25498940559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

faffad & § o1 1 gUiagol (Malicious) IR § S SUGNTH! & S H T BT 8, fSarsy 3R IudlTehdl ¥ el Uhdl Bl 8, 3R
D! g o o1 39 TR &1 BT Holdl 52

Options :

1. % TSAW (Adware)



2. % U (Patch)

3. WRAW (Spyware)
4. % 30SC (Update)

Question Number : 31 Question Id : 2549896780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Buying and selling goods over the internet is called:

Options :

1. ¥ E-post

2. % E-blogs

3. % E-commerce

4. % E-science

Question Number : 31 Question Id : 2549896780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

geRAC & AIH T ITHH Wil 3R 9T &) T Hgl Sl 82
Options :

1. % 3URE

2. % SsANg

3. ¢ S-BIAY

4, % 3.9189

Question Number : 32 Question Id : 2549899070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Sohan has sent an email to different recipients in the To, Cc and Bcc fields. In this context, which of the following statements is true?
Options :

1. # The recipients in the 'Cc' field can see the email addresses in the 'To' and 'Bec' fields.

2. % The recipients in the 'To' field can see the email addresses in the 'Cc' and 'Bec' fields.



3. ¢ The recipients in the 'Bec' field can see the email addresses in the 'To' and 'Cc¢’ fields.

4. % All the recipients can see the email addresses in the 'To', 'Cc' and 'Bec' fields.

Question Number : 32 Question Id : 2549899070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g 7 faftre U ataii & To, Ce 3R Bee BITs H U 3-Hd HoiT| 39 Te A, Fufiad 7 @ oH-91 $U9 9 g

Options :

1. % «Co’HITS & UIdahd!, “To” 3R "Bee’ BITS & 3-Ad U9 &I ¢F I&d g
2. ® ‘To’t.IﬁC'_S'a;QTW'T, ‘Ce’ 3R ‘Bcc’%%é—ﬁﬁ@ﬁa@ﬂﬁ%l
3.¢ ‘Bcc’ﬁ@%m, “To* 3R ‘Cc’ﬁ@%%—ﬁﬁ?@ﬂﬂﬁ%@ﬂﬁ%l
4. % W T, “To’, “Ce” 3R ‘Bee’ BITE & 3-Hd UgT & ¢¥ Tdhd o |

Question Number : 33 Question Id : 2549899157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Google is an example of

Options :

1. % an antivirus

2. ¥ a search engine

3. ¥ a web browser

4. % the internet

Question Number : 33 Question Id : 2549899157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T (Google), I TH JARU ¢ |
Options :

1. % YAy
2. ¢ T SO
3. % J9 FT3oR



4. % geAC

Question Number : 34 Question Id : 25498911072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To select a single word in MS-Word document, it.

Options :

1. % Double click on

2. * Single click on

3. #* Click left to

4. % Click right to

Question Number : 34 Question Id : 25498911072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word SiegHE T fhdt Thdl Ueg I Yolde H & farg, Eony
Options :

1. ¥ 39 R S9d faaid

2. % I IR e faaa

3. % IgP 914 faasd

4. % 3P e fadqs

Question Number : 35 Question Id : 25498911897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

While using Track changes option, to track only your own changes in the document, which of the following options is used in MS-Word 365?
Options :

1. % Just Mine

2. * For Everyone

3. % Change Tracking

4. % Change User Name



Question Number : 35 Question Id : 25498911897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

¢& IO (Track Changes) fa®hed T IUTNT Hd THY, Slagiic H Had U T & URAcH! DI edh B & 1018, MS-Word 365 H fFofeiad & § foy
faea o1 IuaT fara ST 82

Options :

1. & SR HIgA
2. % BR TalaT
3. % oS P
4. % IS GoR AH

Question Number : 36 Question Id : 25498913342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to switch between windows in the same order as they have been opened?

Options :

1. % Alt + Esc

2. #® Alt+ End

3. % Alt+ Ctrl

4. % Alt+ Enter

Question Number : 36 Question Id : 25498913342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IS & offa 3 0 H Rga A & e Plare Wicdhe 71 ¢ for HH T 3= Wi 7 82
Options :

1. ¥ Alt + Esc

2. % Alt+ End

3. % Alt+ Ctrl

4. % Alt + Enter

Question Number : 37 Question Id : 25498924644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which keyboard shortcut will you use to remove paragraph formatting in MS-Word 2019?
Options :

1. % Ctrl + Delete

2. % Alt + Ctrl

3. % Ctrl + Spacebar

4. Ctrl +Q

Question Number : 37 Question Id : 25498924644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-GS 2019 H, TRETE BT &) Rgd d31 & e ford pials widdhe o1 SUTNT foar Sirar g2
Options :

1. % Ctrl + Delete

2. % Alt+ Ctrl

3. % Ctrl + Spacebar

4.9 Ctrl + Q

Question Number : 38 Question Id : 25498924656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options in MS-Word is used to copy and paste the format at the required place in a document?

Options :

1. % Format Painter

2. * Fill Color

3. * Format Color

4. % Wrap Text

Question Number : 38 Question Id : 25498924656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word H Fufafad # 9 fog fawed o1 SudivT fdt gxaras # awe I IR URSY &I Hiul 3R U 6 & forg fovar Sirar g2




Options :

1. ¢ HiHc Uex (Format Painter)
2. % fihd ®HeR (Fill Color)

3. % IAC HER (Format Color)
4. % JUIRe (Wrap Text)

Question Number : 39 Question Id : 25498925224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of IP with reference to internet?

Options :

1. * Internet Plan

2. % Internet Protocol

3. # Internal Project

4. ¥ Intelligent Plan

Question Number : 39 Question Id : 25498925224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gexc & ey H ST (1p) &1 YUl U FT 82

Options :
1. * Internet Plan (3c3¢ W )
2. ¥ Internet Protocol (3'81518 m

3. % Internal Project (323 Hloide)
4. % Intelligent Plan (3CTioiC &)

Question Number : 40 Question Id : 25498925301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options will you use to create an MS- Word document that looks like a newspaper?

Options :

1. % Tables



2. # Bullets and Numbering
3. % Layout > Columns
4. % Tab Stops

Question Number : 40 Question Id : 25498925301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3IFER 1 TRE fd@ a1l MS- Word SIRIHE S & foTT, 31y 49 1 I {69 fasbed o1 ITRT 51
Options :

1. % ¢qd

2. % Falcy 3R ST

3. ¢ TIM3C > HIaAH

4. % ST WY

Question Number : 41 Question Id : 25498925330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the width of the page is greater than the height of the page in an MS- Word document then which of the following statements would be true?
Options :

1. % The page orientation is Landscape.

2. % The page orientation is in Default.

3. # The page orientation is Portrait.

4. % The page size is Letter.

Question Number : 41 Question Id : 25498925330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word SiagHc & Ife U &1 AISTs Usl B SHaTs o 31 &, Al 9 T 9 & 91 S gl g

Options :
1. ¢ U9 3IRUCTH ds®hy §
2. % U NGCRH Wi H 8



3. % U9 SfRUeTH Uice §
4. % Ul DT MBR AT &

Question Number : 42 Question Id : 25498938400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To browse the web more privately in Incognito mode in Windows, Linux, or Chrome OS, which of the following keyboard shortcuts is used?
Options :

1. % Ctrl + Shift + N

2. % Ctrl +Alt+N

3. # Alt+ Shift + N

4. % Ctrl + N

Question Number : 42 Question Id : 25498938400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fdse (Windows), INEE] (Linux) 4T P \’rh'Qﬂ (Chrome OS) | ‘s’éﬁ@lﬂ s (Incognito mode) T 99 B 3P ol 0 W T8 P B fore forg
BISIS YCDHT PHI SYINT [T STl 52

Options :

1. % Ctrl + Shift + N
2. % Ctrl + Alt+ N
3. % Alt+ Shift + N
4. % Ctrl + N

Question Number : 43 Question Id : 25498938403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following processes modifies the URLs of incoming requests so that they conform to a consistent formatting standard?
Options :

1. % URL support

2. % URL balancing

3. % URL normalisation



4. % URL modification

Question Number : 43 Question Id : 25498938403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafead & @ eF-3 ufshar, 3 arel 3RIel & URL &I IR (modify) HRall § dlfd d T JIT WIH ST AFS & 3§17

Options :

1. % URL 9UIC (URL support)

2. % URL SQfT (URL balancing)

3.+ URL TH@RwIRHE (URL normalisation)
4. % URL HIfSfh &R (URL modification)

Question Number : 44 Question Id : 25498941574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The hexadecimal equivalent of binary number 0111 is
Options :

1.¥7

2. % F

3. % 6F

4. % A

Question Number : 44 Question Id : 25498941574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ISR ABAT 0111 BT oIS R THI gl

Options :
1.¥ 7
2.%F
3. % 6F
4. % A



Question Number : 45 Question Id : 25498941589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A isatool used in MS-Excel to calculate, summarise and analyse data and lets you see comparisons, patterns and trends in your data.
Options :

1. * table

2. %* lookup table

3. % pivot table

4. % conditional table

Question Number : 45 Question Id : 25498941589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

, MS-Excel & 32T &1 TUFT, TR 3R fIRaw0r - & forg Iuah faram i a1el U ¢ & | SUY 31T 30 3l &1 gal o= Ihd &
3R ST H Yo 3R 57+ 3 I&hd & |

Options :

1. % ¢9d

2. % GDH3HY cad
3. fUdie ¢ad

4. % HOIRAA cad

Question Number : 46 Question Id : 25498941603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements related to email are true or false.

(1) Post Office Protocol (POP3) is used to dynamically assign Internet Protocol (IP) addresses to each host in a network.
(i1) A valid email address consists of a mailbox recipient name, the @ sign and domain name.

Options :

1. ¢ (i) False (ii) True
2. % (i) False (ii) False
3. % (i) True (ii) True
4. % (i) True (ii) False



Question Number : 46 Question Id : 25498941603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U o SHa O Tefdd AT U = gl € a1 Tad |

(i) U 3{Th Y Mieidhid (POP3) BT IUTNT Acdd | Ud® BIe &I TfARid ©U ¥ e Weldid (1P) Ud FAfEy & & fore frar S g1
(ii) U 9Y 3HW Ud & eI UTddhd! &1 AW, @ g SR S184 8 nfid giar g |

Options :

1. ¥ (i) 7T9d (i) Tat
2. % (i) 9d (i) Td
3. % (i) W8l (ii) Tl
4. % (i) sl (i) Teld

Question Number : 47 Question Id : 25498941609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to macros in MS-Excel is correct?
Options :

1. ¥ We can only record steps using a macro.

2. % We can only automate steps using a macro.

3. ¥ We can only repeat recorded steps using a macro.

4. ¥ We can record, automate and repeat recorded steps by using a macro.

Question Number : 47 Question Id : 25498941609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel ff, aﬁ\_ﬂ (macros) Y Tafda fFufefad syt & § o 91 ud el %‘?

Options :

|. % BH Heh! BT SUUNT HIb TRUN Bl bad Rebis B bd o
2. % §H Uchl BT IUUNT HIh TRUN b hadl Wlerd PR Tebd gl
3. % BH AP Bl IUTN] P Npls (PU 7TT TR0 bl Had Gl Ibhd g |




4. ¥ BH Heh! BT SUINT HRb Reble fhT T TRUN &I Rebls, Taaferd 3R T Jhd g |

Question Number : 48 Question Id : 25498941611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is keyboard short cut for cutting selected text in MS-Excel 2019?

Options :

1.9 Ctrl + X

2. % Cul+C

3.% Cul+V

4. % Ctrl + P

Question Number : 48 Question Id : 25498941611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H Jaige fhU 7T TR B e B (cutting) & fore Fafafed & @ fog oiars 2icdhe o1 IuanT fobar Srar 32
Options :

1. ¢ Ctrl + X

2. % Cl+C

3. % Cul+V

4. % Ctrl +P

Question Number : 49 Question Id : 25498941630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ASCII value of a comma character is

Options :

1. % 57

2. %97

3. 44

4, % 65



Question Number : 49 Question Id : 25498941630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Comma character (\HT’QﬁTII[ an) BT ASCII HIF T g
Options :

1. % 57

2. % 97

3.9 44

4. % 65

Question Number : 50 Question Id : 25498941634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The octal equivalent of decimal 10 is

Options :

1. % 10

2. % 11

3.9 12

4. % 13

Question Number : 50 Question Id : 25498941634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR BT (decimal number) 10 BT fiacd HHJY (octal equivalent) T g
Options :

1. % 10

2. % 11

3.9 12

4. % 13

Question Number : 51 Question Id : 25498941650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The binary equivalent of decimal 10 is
Options :
1. % 1100
2.91010
3. % 1111
4. % 1011

Question Number : 51 Question Id : 25498941650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SR HAT 10 BT d13-RI GHTedib RGN
Options :
1. % 1100
2.4 1010
3. % 1111
4. % 1011

Question Number : 52 Question Id : 25498941654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The function in MS-Excel 2019 is used to reverse a value of its argument.

Options :

1. ¥ AND

2. % NOT

3. % OR

4. % XOR

Question Number : 52 Question Id : 25498941654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ¥, oM BT IUANT SHH! 3THe deg B Ry e & fore forar S g |

Options :



1. = AND

2. ¥ NOT

3. % OR

4. % XOR

READING COMPREHENSION

Section Id : 2549898498
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898539
Question Shuffling Allowed : No

Question Id : 25498921397 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Pain

Physical pain and suffering are two aspects of human life that we are usually scared of. Physical pain is related to the body, while suffering is our mental and
emotional response to the experience of pain. Do pain and suffering serve any deeper purpose?

‘Pain: The Gift Nobody Wants’ is a book by Dr. Paul Brand where he explores the purpose and value of physical pain. He is of the opinion that pain is a very
sincere friend that warns us of some danger to the body and thus protects us. If there were no warning in the form of pain, one would not hesitate to put
one’s hand into the fire to retrieve a burning object. Our hand would get burned and we wouldn’t even know. It is the fear of pain that keeps us away from



handling dangerous objects. A little pain saves us from a larger damage. Children who eat lots of sweets and chocolates often complain of toothache. Parents
rush them to a dentist immediately. The dentist attends to the problem and takes steps to set it right. Had there been no pain, the entire tooth might have
decayed without the child ever knowing about it.

Dr. Brand once had to work with some patients who had lost the sensation of pain in their limbs. He saw some of them walking with broken skin and even
exposed bones. Their condition was getting worse day-by-day, but they were not aware of it. Had they been capable of experiencing pain they would have
taken care of themselves long before to prevent this miserable condition. One often wonders why the experience of pain should be so unpleasant.

Dr. Brand explains that it is the unpleasantness of pain that makes it so effective in protecting us and warning us of danger and injury. The feeling of
unpleasantness and discomfort forces the entire body to attend to the cause of pain and act accordingly. Besides, the memory of the pain gets preserved in
the mind and protects us in the future.

Sub questions

Question Number : 53 Question Id : 25498921398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is suffering?

Options :

1. #* Mental response to pain.

2. % Physical response to pain.

3. * Emotional response to pain.

4. ¥ Mental and emotional response to pain.

Question Number : 54 Question Id : 25498921399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to Dr. Brand, which of the following is NOT true?

Options :

1. * Pain saves us from damage.

2. % Pain is our greatest enemy.

3. % Pain is a warning signal.

4. % Unpleasantness of pain protects us.

Question Number : 55 Question Id : 25498921400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



How can toothache become a blessing in disguise?
Options :

1. # It slows down the process of decay.

2. ¥ It leads to timely action preventing tooth decay.
3. ¥ Tt is profitable for the dentist.

4. % Tt increases the ability to bear pain.

Question Number : 56 Question Id : 25498921401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The patients with broken skin could walk around because they:

Options :

1. # knew that they could not be treated

2. % could not afford the treatment

3. ¥ were not aware of the damage to their body

4. # were experiencing unbearable pain

Question Number : 57 Question Id : 25498921402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the body’s immediate response to pain?

Options :

1. # It becomes accustomed to pain.

2. % It becomes indifferent to pain.

3. % It attends to the cause of pain and acts.

4. % Tt stores the experience to memory.

Question Id : 25498921397 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

fau U TR Y U 3R ISP SMYR TR U & IR S|



ad

YRINGD & 3R T H-a Sita- & &1 Ugd & R 89 SR IR 834 &1 IR ad IR Feifdd &, Siafes die1 3¢ & 3rgHa & ufd gvrit
MRy 3R HiaTeTe Ufafshar 81 & ac 3R det forddt g S22 &) gff &va &2

aqﬁﬁu%’:lﬁs"ra"r%}r [Pain: The Gift Nobody Wants]’ "dTH® Jidd, ETU\WWW%@H%WGEW%%W@TWWW
FRd g | ST Ad T8 ¢ [P g6 Ud dgd SHMGR 7 § Sl 85 IRR & A & Wk &1 Ad1a-! odl § 3R 39 UHR g4 991l ¢ | TG &g & ©U H Bl
AT TSI, A B3 SIctdl! g3 axd ! G: U R o ford ol ot ST & g1y S1am & off TWopta 18 8iaT| S9RT 81y STt ST 3R gH e it =&t
AT U &G BT SX 8 Gl oH WA aegsll bl U ¥ G 3@l 5 | UIST &g o1 U g JHUM U §a1dl ¢ | Sl F=df 9gd IR} 378 $fR disbeic
QT 8, SRR Bl GG ! RIBTId B & | AII-UdT 3% i U dd Fifbe & Ui o §Id & | < FRifbcie G ¢l 8 R 39 9gl i & forg
HeH IS o1 Al BIS o< TS &I, A =3 b 39P R | i it o e q=r i aifdi & et i

ST, 5118 DI T IR I FRISI & 1Y BT BT UsT T ol 30 3T H &8 o1 Jagar @1 <1t 3511 I8 @ 32 B! fauiid @ ik ugl d
il gl & 1Y e ¢l | 3BT gTad fed-vfdfed Txid g1 Xa! df difchd 36 s9d aR H U1 a1 4TI afg d &g T 3IHd H- & G&H gid dl d 39
I U 1 e & TN g d Ued Ga 1 BT I A | SRR T8 T 1y § b o< BT 3HT 3a-1 S1fig il g1 anfawe

S e gagd & b g8 o ot Sifdrdr @ off g sa H 3R g8 Wak U9 dic B Idra-! & H Sicid THTE B 1 SHOar 3R 3rgfen &t HiaT W IR 1 <d &b
BRI S 3R TGTIR BT R P AT FATeR Bl 8 | 3D AT, ¢ bl W AI&T=p § Widrd gl g 3R Hidw & g& Tt 21

Sub questions

Question Number : 53 Question Id : 25498921398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

dreT R g?
Options :

1. % 3¢ P fog ARye ufafsar|

2. % T3¢ & foru Iifve ufafesa

3. % g & foTu HIgATHS Ufafehar|

4. ¥ TG & o AR 3R W s ufdfear|

Question Number : 54 Question Id : 25498921399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
&1, 518 & TR 390 q DIH-91 S I e 82

Options :



1. % &d g &ffd 9 Sarar g |

2. ¢ T GHRI Iy SST T ¢
3. % Gg U a1 dohd g

4. % TG 1 ATA1 g6 Fard! g |

Question Number : 55 Question Id : 25498921400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

ald ¢ B9 U H 58 REM & Ibdl 82

Options :

1. % Ug & B ufp a1 b AT HR AT B

2. ¥ Tg 2id &1 B Ahd U IHY R HRATS HRT 3|
3. % g <d Rfecs & fore drveas 3|

4. % g TS UG- B &I & I 9Tl g

Question Number : 56 Question Id : 25498921401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fAUIRSTA @raT arel BRI IRT 3R g1 Hab Fiifob:
Options :

1. % 3 9Md ¥ T ST AT 8! fbdT ST TebT|
2. % 9 JUAR g8 6] HR I |

3. d 304 IRR D1 &ffd & IR H SF® ot U

4. % J GG GG BT 3IHI HR G U

Question Number : 57 Question Id : 25498921402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TS & Ufd IRR Bt debTa Ulafshar 1 82
Options :

|. % gg &g bl 3Tl 81 ST g

2. % g ad & Ul SR gl SIrar |



3. Ug TS & HRUI BT Ud] AT § 3R BT BT g |
4. % TG YT B Wi T TR HRAT G|

QUANTITATIVE APTITUDE
Section Id : 2549898499
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898540
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rita invested 25% more than Sunil. Sunil invested 30% less than Abhinav, who invested 26,000. What is the ratio of the amount that Rita invested to the

total amount invested by them?
Options :

1. % 35:104

9 % 1329

3 % 101:36



4.« 35:103

Question Number : 58 Question Id : 25498928828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A T 25% 3ifere o fasar | a7 g & 30% $H a1 faan, eifima 3 26,000 &1 o= foran | a1 gR1 o= &t 718 A 3R 38
GRI DI TS S R BT SIATd 1A Difod |

Options :

| = 35: 104
, % 13 : 29
;% 101 : 36
4 v 35:103

Question Number : 59 Question Id : 25498928975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The cost of tiling a rectangular room is 26,448 at the rate of 262 per sq. ft. The length of the room is 6 ft less than the side of a square room whose area is
361 sq. ft. What is the breadth of the rectangular room?

Options :
v 8ft
) % 131t

3 % Tkt



4 % 91t

Question Number : 59 Question Id : 25498928975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Teh HTOATRIY FHY H TS o9 &1 T 2 62 9y 337 Hie Fr T T T 6,448 | FHAL H &2 39
TFR FAY FT TF 1 § 6 BT FA g [S@H 896 361 T97 $IT g1 HTAHR FAL B =ASg F:=40
&7

Options :

| v 8 BT

» % 13 BT
3 % 7 I

4 % 9 BIE

Question Number : 60 Question Id : 25498929079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the following number series?

18 18 24 48 108 72
Options :

| % 254



5 o 228
3 % 212
4 % 176

Question Number : 60 Question Id : 25498929079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Aeafoi@a TEar y@en § IeARES (?) & TIH 9T &7 A7

18 18 24 48 108 ?
Options :

| = 254
5 v 228
3 % 212

L % 176

Question Number : 61 Question Id : 25498929134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A milkman has two big containers. The first container has a mixture of milk and water in the ratio 3 : 1, whereas the second container has a mixture in ratio
1 : 1. He mixes milk from both containers into a third container. In what ratio should he mix the contents of the first and second containers to get a final
mixture with ratio 5 : 3?7

Options :



(]

Question Number : 61 Question Id : 25498929134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T GUATA & UT &1 9 UT & | Ugd U & g 3R Ut 1 f%07 3+ 1 & SfUrd ® 8, Safos gux U H flI30 1 : 1 % SuTd & 81 98 S Ul ¥ gy
B AR U H YT 81 39 Uge 3R IR U & fHreyor b by sruta # foretr =nfeu 3 sifaw fireror 1 3rquta 5 ¢ 3 81 S

Options :
1. % 3

0. % 1:3
3 % 12

4. 1]

Question Number : 62 Question Id : 25498929558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The equations x% + ax + b = 0 and x* + bx + a = 0 may have a common root if :

Options :



Question Number : 62 Question Id : 25498929558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THSOT 2 4+ax+b=0 3T 2 +bx+a=0 ﬁEﬂﬁ'@ﬂﬁHﬁﬁTmﬁﬁ g
Options :
= a+b=0

yw a+ b=1
3 8+ b= -1

4. % 8 T b=-2

Question Number : 63 Question Id : 25498929637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A and B together can do a piece of work in 16 days, whereas B and C can do it in 12 days. After A has been working at it for 4 days, and B for 7 days, C
finished it in 13 days. In how many days could A do it alone?

Options :



1. - 7
34>
2. e 7
342
3.4 7
i
4.% 7

Question Number : 63 Question Id : 25498929637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
1
33—
7

1. =
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Section Id : 2549898500
Section Number : 4

Section type : Online
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Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898541
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'Cup' is related to 'Crockery' in the same way as 'Pen' is related to
Options :

1. * Books

2. % Paper

3. * Ink

4. ¥ Stationery

Question Number : 64 Question Id : 25498910163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

BT BT Y BIH AT UPR A T w1y AR
Options :

1. % fpdral

2. % DI

3. % gl



4. ¢ IR

Question Number : 65 Question Id : 25498912953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each of the given letters has been assigned a unique number. Select the combination of numbers such that the
corresponding letters when arranged accordingly will form a meaningful word.

T|N|[D|R|A|E
1 ]2 |3 (4|5

Options :

1. % 1,6,2,3,5,4
2. % 3,6,2,4,5,1
3.% 4,5,3,6,2,1
4.4 5.4,3,6,2,1

Question Number : 65 Question Id : 25498912953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

faw a1 udes 318 1 Uek fafdy wEm & 913 B 1 G@ & TS S 93 36 YR & ok Hera e Y dgqur
afErd S W U ot oreg &1 |

T NIDIR|A|E
11234 6
Options :

1. % 1,6,2,3,5,4
2.%3,6,2,4,5,1

3.% 4,5,3,6,2,1
4.95.4,3,6,2,1

Ln

Question Number : 66 Question Id : 25498919021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain way.

Flood : Fire : Cyclone
Options :

1. #* Damage

2. ¢ Earthquake

3. % Rain

4. % Accident

Question Number : 66 Question Id : 25498919021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

U MY fasmedl © O 39 Xeg &1 78 Pifod ol fGT MU Weg! & T & THH g
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Options :

1. % gffa

Question Number : 67 Question Id : 25498919776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): In India, females have higher life expectancy than the males.
Reason (R): Females receive a better diet.

Options :

1. * Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % Ais true but R is false



4. % Both A and R are false

Question Number : 67 Question Id : 25498919776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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BRI (R):

Options :

|. % A SRR T I B 3R R, A BT et WHIHIU § |

2. % AR REHI T § WY R, A BT TG! WP T8l g |
3. ¥ AT § WY R SRA G

4. % A SRR A T B

Question Number : 68 Question Id : 25498927389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that satisfies the same conditions of the placement of the dots as shown in the given figure.

Options :




—

W

A
Wi

3.

Question Number : 68 Question Id : 25498927389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ T
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Question Number : 69 Question Id : 25498928156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If in a certain language, BAT is coded as 23 and COLD is coded as 34, then how will PRETTY be coded in that language?
Options :

1. * 100

2. % 84

3.9 104

4. % 78

Question Number : 69 Question Id : 25498928156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g T FAfEd U H, BAT @1 23 3R COLD & 34 % ¥ U H Ged [Bdl SIdl 5, Al 39 N H PRETTY &I Hdl Hedg [dhal SITE?

Options :



1. * 100

2. % 84

3.9 104

4. % 78

GENERAL AWARENESS
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Section type : Online
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Section Marks : 6
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Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The areas where monthly rainfall during October to December ranges from 10 cm to 30 cm fall in:
Options :

1. ¥ East West of Tamil Nadu and Andhra Pradesh

2. % Kerala and Karnataka

3. ¥ Jammu and Kashmir

4. % Himachal Pradesh

Question Number : 70 Question Id : 2549895309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

DY & T fagaR Y fOUeR & SRM 10 em ¥ 30 em T WG o gt &2

Options :

1. ¢ AETg 3R 318l TR o gaif ufddt &=
2. % YA 3R Flch

3. % S 3R HIAR

4. % feAd U

Question Number : 71 Question Id : 25498912565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following R series are regarded as environment friendly?

Options :

1. ¥ Reduce, Rebuild, Restrict

2. ® Random, Reduce, Recall

3. # Read, Register, Recall

4. ¥ Reduce, Reuse, Recycle

Question Number : 71 Question Id : 25498912565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafaa 7 9, ford R 907 1 TafeRvI-3 @ HHT ST 82

Options :

1. * ey, dAfes, M (Reduce, Rebuild, Restrict)
2. % 3_6"5[, W, Jdaprd (Random, Reduce, Recall)

3. % s, W,W(Read, Register, Recall)

4. i\QSIJ\{-I, aiﬂ\\ﬂ, Q(\I{-Ilsi-a’?ﬂ (Reduce, Reuse, Recycle)

Question Number : 72 Question Id : 25498922861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Respiration occurs in fishes through:



Options :

1. * lungs
2. ¥ gills

3. ¥ nostrils

4. ® gcales

Question Number : 72 Question Id : 25498922861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Taferat Fafafad & & forads anem & oue a2
Options :

1. # m(lungs)

2. ¢ TABS (gills)

3. % AMHMYC (nostrils)

4. % e (scales)

Question Number : 73 Question Id : 25498932484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following has NOT been a component of the agriculture strategy that brought about the Green Revolution?
Options :

1. # Greater intensity of cropping

2. % Guaranteed maximum prices

3. ¥ New agricultural technology

4. % Package of inputs

Question Number : 73 Question Id : 25498932484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafafad @ 9 o-a1, gRa Hifd am arel HY oI &1 uE v et un

Options :
1. % Hgd & IS FgdT




2. ¢ SHiYDHdH BT DI MRS
3. % 93 S ddbAID
4. % AIEH (3TYCH) BT Uobs

Question Number : 74 Question Id : 25498932503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The percentage of agriculture land is very high in all the following states, EXCEPT:

Options :

1. * Punjab

2. % Haryana

3. % Uttar Pradesh

4. % Sikkim

Question Number : 74 Question Id : 25498932503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Uolg

2. % gigron
3. % TR UK
4. ¢ TfapH

Question Number : 75 Question Id : 25498932596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following rights does the Constitution of India NOT guarantee?

Options :

1. ¥ Right of equal home

2. % Right to equality



3. # Right to freedom of religion
4. % Right to freedom of speech

Question Number : 75 Question Id : 25498932596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HRAH Sfae™ 378 T 5 SifIepR &) TR T8t ¢anr
Options :

1. ¢ THAM TR BT TP

2. % gHMA BT HTHR

3. % YT Tac=dl BT 3AfYBR

4, % NI DI WdAdl BT TBR
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process

as they get to explore new arenas.
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Question Number : 77 Question Id : 25498942569 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

The sky is the most mysterious part of our everyday experience. Familiarity may make the amazing events going on at ground level seem almost
ordinary. Plants and animals grow and die. The rain falls and the rivers flow. We feel we understand that. But the sky is beyond comprehension.
Two great objects travel through it. One is hot and constant and the other cold and changeable. In the daytime it is moody. There may be blazing
sun or racing clouds or darkness followed by thunder and lightning. And yet on a clear night the sky is the very opposite. It is predictable in the
night. If you look hard enough with recognizable groups of stars moving in a slow but reliable manner. Interest of the man in the sky is at the heart
of three separate stories. These three stories are astronomy and astrology and the calendar. Astronomy is the scientific study of moon and stars. The
stars include the sun also. Astrology is a pseudo science interpreting the supposed effect of the heavenly bodies on human existence. In early history
the two are closely linked. The sky is the home of many of the gods. These gods influence the life on earth. And the patterns in the sky must surely
reflect that influence. Compilers of a calendar attempting to record and to predict the passage of time are offered an easy first step in the cycle of
the moon. The only two measures of time available to primitive people are the day and the month. The month is a well adjusted length of time for
recalling fairly recent events. A far more important slice of time is the year. It is a full circuit of the earth round the sun. It is crucial in human
activities because of its influence on seasons and crops. But the length of a year is exceptionally hard to measure. Primitive societies make do with a
broad concept counting the year as starting when leaves sprout on a particular tree or describing someone as having lived through a certain
number of harvests. The only simple yet accurate way of measuring a year is in relation to the stars. The stars appear in the night sky at different



times and places depending on where the earth is in its orbit round the sun. A star observed in a given place on the horizon at dawn. They will be
there again exactly a year later. In Egypt the temple priests derive much of their prestige from close attention to the stars. It enabled them to give
the impression of predicting natural events. The best example is their use of Sirius. It is also known as the Dog Star. It rises above the horizon just
before dawn at the time of year when the all important flooding of the Nile is about to occur. Priests who can foretell this great event are powerful
soothsayers. This observation of Sirius also enables the Egyptians to become the first people to move from a lunar to a solar calendar. In
Mesopotamia the Babylonians are the leading astronomers. The calendar is a simple lunar one. So probably is the first Egyptian calendar. The use
of lunar based calendar is still prevalent today. The lunar based calendar has a very big disadvantage.
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